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00000000 Hamiltonian HOOOOOOOOOO 10000000000 ¥(x,t)
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1. 00 t, 000000 ¢(z,t)000000000,00000 t>t 000000
0,0000 K(z,t:y,t) 0000

(1) bt = [ dyK (e, ty )y, t)
00000000000.000,0000 K(z,ty,t) O

(2) K(zt;y,t) = Z% y) exp(—iE;(t —to) /h).

000, {¢;(z)}j—1..0, HODOODOODOODOOOOOOOO,E;0 ¢;0000.

2. 0000 Kty t) O, K(z,t;y.t) = (z,tlyty) 00000000, 00O,
W(x,t) = (x| exp[—iHt/h]|¢) DOOODOOOO.

3.0000 K(z,t;y,t) 000000

(3) L,i - ;H( )] K( t:y.t0) = 6(z — y)d(t — t)

0000 Green DODOOOOODOODO.

Hint. 000 6-000,¢ <ty 0 K(z,t;y,6) =0000 ¢(z,¢)=0000000000
00.0000,t>t 00000000000.000000 4600000000
oooo.
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4. 0000 H=—(h*/2m)(d*/dz®) OO0,

(4)  K(z,t;y,t9) = m1/2(2m'h(t _ to))_l/2 exp (M)

gbooboodan.

5. (000 potential 000 ) 00000 t, 0 yOOOOODOOOOOO t0 2000
00000000000 |K(x,ty,t))? 0000000000000, ODOOOO,
K(x,t;y,to) = (z,tly,to) 00O, transition amplitude (D00 0) 0O000O.

6. 00000,00000000000 (ptpt) 0000,

7. (000 potential 000 ) O0O0O0DO ‘0000’0,

(5) Z(8) = / drK (z,t; 2,0)

t=—ifh
O0odod. oooo,0o0b0o00o00oog Eyd
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